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due nortli of its stiirtiii^'-ixiint. How many miles lias it

lost by liciiif^ ohligfd tt» tuck ?

•MO. t'l) is ii tower stamlini,' on the inclined plane AC\
Ali is .1 base line in this plane; iit A the angle of eleva-

tit»n of the top of the tower is 4">°, and at B it is 08°.

Ali is \\1 ivvX lonj,' and inclined 20° to the hori/on. Kind
the heij^ht of the tower.

'W. A man nicasinvs Ali, on*' side of a triant,nilar field,

and finds it to !»• liOO nultrs ; he measures the anijle at Ii

and finds it to l»e 7-": he walks from B to t\ luit ne'dcct.s

to measure li('\ he finds the angle at C to l»e 40''. Drav
a plan of the field and find how long BO is.

32. Three vessels left the same port and sailed in differ-

ent directions. How far apart wiHl they he after the first

sails 10 kilometers to the south, the second 14 kilometers

to the southwest, and the third l.S kilometens to the

northeast?

33. The angle of elevation of the top of a tower to a

person standing on the oj)posite bank (»f a river is t)0°.

When he has retired 100 feel in a straight line from the

rivi-r, the angle of elevation is 4o°. Find the breadth of

the river and the height of the tower.

34. A ladder placed at an angle (»f 7.^° with the ground
just reaches the sill of a window 27 feet al)ove the ground
on one side of the street. On turning the ladder over
without moving its foot, it is found that when it rests

against a wall on the other side of the street it is at an
angle of 1.3° with the ground. Find the breadth of the

street.

35. ABODE is a field having the following dimensions :

AB 200 yards, BO 240 yards, OB 250 yards, DH 300


